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Arithmetic Progression

Example

1. Show the position of the terms by 

for sequence 9,15, 21,...

t1, t2, t3,

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BU2Ld7u2bzIr


Watch Video Solution

2. Show the position of the terms by 

for sequence 7,7,7,7,….

Watch Video Solution

t1, t2, t3,

3. Show the position of the terms by 

for sequence 

Watch Video Solution

t1, t2, t3,

−2, − 2, − 10, − 16, …

https://dl.doubtnut.com/l/_BU2Ld7u2bzIr
https://dl.doubtnut.com/l/_Ir6SmMy13oam
https://dl.doubtnut.com/l/_kdQwBoca61SD
https://dl.doubtnut.com/l/_7UPWTWe0dibk


4. Check whether there is any rule among the

terms of sequence: 

Watch Video Solution

1, 4, 7, 10, 13…

5. Check whether there is any rule among the

terms of sequence: 

Watch Video Solution

6, 12, 18, 24, …

https://dl.doubtnut.com/l/_7UPWTWe0dibk
https://dl.doubtnut.com/l/_LovpbdS84UgA


6. Check whether there is any rule among the

terms of sequence: 

Watch Video Solution

3, 3, 3, 3….

7. Check whether there is any rule among the

terms of sequence: 

Watch Video Solution

4, 16, 64, ….

https://dl.doubtnut.com/l/_Ni4u4dgjKnwN
https://dl.doubtnut.com/l/_UZo5WRFvzAjD


8. Check whether there is any rule among the

terms of sequence:

Watch Video Solution

−1, − 1.5, − 2, − 2.5, ….

9. Write one example of finite and infinite

A.P.each.

Watch Video Solution

https://dl.doubtnut.com/l/_DzPu0FJTkNSj
https://dl.doubtnut.com/l/_xcb0nT2uNebJ


10. Is the given sequence an AP? If yes, then

find common difference: 

Watch Video Solution

2, 4, 6, 8, ….

11. Is the given sequence an AP? If yes, then

find common difference: 

Watch Video Solution

2, , 3, , ….
5

2
7
3

https://dl.doubtnut.com/l/_sAGns6rgpvtj
https://dl.doubtnut.com/l/_R16XbIBVqxfw


12. Is the given sequence an AP? If yes, then

find common difference:

Watch Video Solution

−10, − 6, − 2, 2, …. .

13. Is the given sequence an AP? If yes, then

find common difference: 

Watch Video Solution

0.3, 0.33, 0.333, ….

https://dl.doubtnut.com/l/_lvcZhTO5qBs2
https://dl.doubtnut.com/l/_aQU90r4q49H8


14. Is the given sequence an AP? If yes, then

find common difference:

Watch Video Solution

0, − 4, − 8, − 12, …

15. Is the given sequence an AP? If yes, then

find common difference:

Watch Video Solution

− , − , − , ….
1

5

1

5

1

5

https://dl.doubtnut.com/l/_7cXwHjRZ4Z2t
https://dl.doubtnut.com/l/_aNjOVMbH7FeA
https://dl.doubtnut.com/l/_jFJUsYabEFSh


16. Is the given sequence an AP? If yes, then

find common difference:

Watch Video Solution

3, 3 + √2, 3 + 2√2, 3 + 3√2, ….

17. Is the given sequence an AP? If yes, then

find common difference:

Watch Video Solution

127, 132, 137, ….

https://dl.doubtnut.com/l/_jFJUsYabEFSh
https://dl.doubtnut.com/l/_fyGz5Q3qm7YM


18. Write an A.P whose first term is  and

common difference is  upto 4 terms.

Watch Video Solution

a = 2

d = 5

19. Write an A.P whose first term is 

and common difference is  upto 4 terms.

Watch Video Solution

a = − 3

d = 0

https://dl.doubtnut.com/l/_u5sEGTZ2EM1R
https://dl.doubtnut.com/l/_LVd7iq0k6sZa


20. Write an A.P whose first term is 

and common difference is  upto 4

terms.

Watch Video Solution

a = − 7

d =
1

2

21. Write an A.P whose first term is


 and common difference is 

upto 4 terms.

Watch Video Solution

a = − 1.25 d = 3

https://dl.doubtnut.com/l/_RhC79Ycr0BUz
https://dl.doubtnut.com/l/_tDNHe8AMNBmK
https://dl.doubtnut.com/l/_lxWAvD2CkH3G


22. Write an A.P whose first term is  and

common difference is  upto 4 terms.

Watch Video Solution

a = 6

d = − 3

23. Write an A.P whose first term is 

and common difference is  upto 4

terms.

Watch Video Solution

a = − 19

d = − 4

https://dl.doubtnut.com/l/_lxWAvD2CkH3G
https://dl.doubtnut.com/l/_9huvHpfB9vZ1


24. Find the first term and common difference

for the A.P. 

Watch Video Solution

5, 1, − 3, − 7

25. Find the first term and common difference

for the A.P. 

Watch Video Solution

0.6, 0.9, 1.2, 1.5

https://dl.doubtnut.com/l/_rXOnByrg6iX3
https://dl.doubtnut.com/l/_eoL1dY0luBSa


26. Find the first term and common difference

for the A.P. 

Watch Video Solution

127, 135, 143, 151, …

27. Find the first term and common difference

for the A.P. 

Watch Video Solution

, , ,
1

4

3

4

5

4
7
4

https://dl.doubtnut.com/l/_W3KOaLad1Vxb
https://dl.doubtnut.com/l/_5ERVoNXND0bm


28. Is  an A.P? If so then what

will be the  term ? Check whether

 are in this A.P.

Watch Video Solution

5, 8, 11, 14….

100th

92 and 61

29. Write the correct number in the given

blanks from the following A.P. . 

  

, hence 

1, 8, 15, 22

a = ... t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

https://dl.doubtnut.com/l/_tinzBughgLUj
https://dl.doubtnut.com/l/_7GlkE9DlDlh0


Watch Video Solution

30. Write the correct number in the given

blanks from the following A.P. . 

  

, hence 

Watch Video Solution

3, 6, 9, 12

a = ... t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

31. Write the correct number in the given

blanks from the following A.P.

https://dl.doubtnut.com/l/_7GlkE9DlDlh0
https://dl.doubtnut.com/l/_wH0XvDi55YH0
https://dl.doubtnut.com/l/_qpVtNOVmoeYV


.  

 

, hence 

Watch Video Solution

−3, − 8, − 13, − 18 a = ...

t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

32. Write the correct number in the given

blanks from the following A.P. . 

  

, hence 

70, 60, 50, 40

a = ... t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

https://dl.doubtnut.com/l/_qpVtNOVmoeYV
https://dl.doubtnut.com/l/_WwROTAIwfufQ


Watch Video Solution

33. Decide whether following sequence is an

A.P.,if so find  term of the progression.

Watch Video Solution

20th

−12, − 5, 2, 9, 16, 23, 30…

34. For the given Arithmetic Progression

Find the 24th term of this AP.

Watch Video Solution

12, 16, 20, 24, …

https://dl.doubtnut.com/l/_WwROTAIwfufQ
https://dl.doubtnut.com/l/_at3FvUJqCVBi
https://dl.doubtnut.com/l/_KPbfwomBPI7j


35. Find the 19th term of the following A.P.

Watch Video Solution

7, 13, 19, 25, …

36. Find the  term of the following A.P.

Watch Video Solution

27th

9, 4, − 1, − 6, − 11, ….

https://dl.doubtnut.com/l/_6ppje3QucgTl
https://dl.doubtnut.com/l/_2doG7v7sCvv2


37. Find the 4th term from the end in an A.P,

Watch Video Solution

−11, − 8, − 5, …. , 49

38. The 11th term and the 21st term of an A.P

are 16 and 29 respectively,then find the 41st

term of that A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_iC1wOaDQ01zY
https://dl.doubtnut.com/l/_nLFSkKFA1fRv


39. In an A.P  term is , sum of  term

and  term is . Find the A.P.

Watch Video Solution

10th 46 5th

7th 52

40. If sum of  and  term of an A.P is 

and sum of  and  term is , then find

 term.

Watch Video Solution

3rd 8th 7

7th 14th −3

10th

https://dl.doubtnut.com/l/_Fegp19npR6sq
https://dl.doubtnut.com/l/_S4obZ6HURMje


41. In an A.P  term is  more than 

term. Find the common difference?

Watch Video Solution

17th 7 10th

42. How many three digit natural numbers are

divisible by ?

Watch Video Solution

5

https://dl.doubtnut.com/l/_xOmEYi1Ih2iC
https://dl.doubtnut.com/l/_GrYpFntgZ3Ux


43. How many natural numbers from  to 

are divisible by ?

Watch Video Solution

10 250

4

44. , In this A.P which term is

number  ?

Watch Video Solution

11, 8, 5, 2, …

−151

https://dl.doubtnut.com/l/_25dEd8AaVGkG
https://dl.doubtnut.com/l/_E7kTDPJNHjeC


45. Two A.P's are given as  and 

. If  term of both the

progressions are equal then find the value of

 and  term.

Watch Video Solution

9, 7, 5, ….

24, 21, 18, … nth

n nth

46. If the  term of an A.P is  then show

that the  term is twice the  term.

Watch Video Solution

9th zero

29th 19th

https://dl.doubtnut.com/l/_Nkdz24f2Xlos
https://dl.doubtnut.com/l/_DNtgJThQH7rL
https://dl.doubtnut.com/l/_mKQJHI4JxA6f


47. If  times the  term of an A.P is equal

to  times its  term then show that

 term of the A.P is .

Watch Video Solution

m mth

n nth

(m + n)th zero

48. Find the sum of all odd natural numbers

from  to .

Watch Video Solution

1 150

https://dl.doubtnut.com/l/_mKQJHI4JxA6f
https://dl.doubtnut.com/l/_OP1fOGaa4Vyw


49. First term and common difference of an A.P

are  respectively. Find 

Watch Video Solution

6 and 3 S27

50. Find the sum of first  even natural

numbers.

Watch Video Solution

123

https://dl.doubtnut.com/l/_jsF7mEJVA6Hw
https://dl.doubtnut.com/l/_D4FGT0FJyOOv


51. An A.P has its  term as  and 

term as . Find the sum of first  numbers.

Watch Video Solution

4th −15 9th

−30 10

52. Sum of  to  natural numbers is . Find

the value of .

Watch Video Solution

1 n 36

n

https://dl.doubtnut.com/l/_Stx9uDh9c2Jc
https://dl.doubtnut.com/l/_gXfLPxxsM75z


53. Find the sum of all even natural numbers

between  to .

Watch Video Solution

1 350

54. Find the sum of natural numbers from  to

 which are divisible by .

Watch Video Solution

1

140 4

https://dl.doubtnut.com/l/_EJDVelZ0bpU9
https://dl.doubtnut.com/l/_je5itKiBcuRn


55. Sum of first  terms in an A.P is . Find

its  term.

Watch Video Solution

55 3300

28th

56. In an A.P.  term is  and  term is

. Find the sum of first  terms.

Watch Video Solution

19th 52 38th

128 56

https://dl.doubtnut.com/l/_JDiRiOKpHF4W
https://dl.doubtnut.com/l/_wFh8faZ5nFHj


57. In an A.P, first term is  and last term is 

. If sum of all the numbers in the A.P is ,

then how many terms are there? What is the

common difference?

Watch Video Solution

−5

45 120

58. In an A.P sum of three consecutive terms is

 and their product is , find the terms.

(Assume that three consecutive terms in A.P

are ).

27 504

a − d, a, a + d

https://dl.doubtnut.com/l/_9dxmvl9cWOMF
https://dl.doubtnut.com/l/_1QG3n2kGtDwu


Watch Video Solution

59. Find four consecutive terms in an

A.P.whose sum is  and the sum of  and 

 term is . (Assume the four consecutive

terms in A.P are ).

Watch Video Solution

12 3rd

4th 14

a − d, a, a + d, a + 2d

60. Divide  in three parts, such that all

parts are in A.P and product of two smaller

parts is .

207

4623

https://dl.doubtnut.com/l/_1QG3n2kGtDwu
https://dl.doubtnut.com/l/_xMuTVeGvCfuL
https://dl.doubtnut.com/l/_7inCrqtrgKVO


Watch Video Solution

61. There are  terms in an A.P. The sum of

three terms placed exactly at the middle is 

and the sum of last three terms is . Write

the A.P.

Watch Video Solution

37

225

429

62. If the sum of first  terms of an A.P is equal

to the sum of first  terms, then show that the

p

q

https://dl.doubtnut.com/l/_7inCrqtrgKVO
https://dl.doubtnut.com/l/_Ow7LjswUmgNZ
https://dl.doubtnut.com/l/_fV9e31sHvBU3


sum of its first  terms is . .

Watch Video Solution

(p + q) zero (p ≠ q)

63. If first term of an A.P is , second term is 

and last term is , then show that sum of all

the terms is .

Watch Video Solution

a b

c

(a + c)(b + c − 2a)

2(b − a)

64. There is an auditorium with 27 rows of

seats. There are 20 seats in the first row, 22

https://dl.doubtnut.com/l/_fV9e31sHvBU3
https://dl.doubtnut.com/l/_pHofwzUqG7Rt
https://dl.doubtnut.com/l/_goxRFTP8PrYm


seats in the second row, 24 seats in the third

row and so on. Find the number of seats in

15th row and the total seats in the auditorium.

Watch Video Solution

65. Kargil's temperature was recorded for a

week i.e Monday to Saturday. All readings were

in A.P .The sum of temperatures of Monday

and Saturday was  more than the sum of

temperatures of Tuesday and Saturday. If

5∘C

https://dl.doubtnut.com/l/_goxRFTP8PrYm
https://dl.doubtnut.com/l/_IwhB6teK7RfG


temperature of Wednesday was , then

find the temperature on the other five days.

Watch Video Solution

−30∘C

66.  is invested at  simple interest.

Check at the end of every year if the total

interest amount is in A.P. If this is an A.P then

find interest amount after  years.

Watch Video Solution

₹1000 10%

20

https://dl.doubtnut.com/l/_IwhB6teK7RfG
https://dl.doubtnut.com/l/_VyqsKoVgHJXk


67. On 1st January 2016, Sanika decides to save

,  on second day,  on third day. If

she decides to save like this, then on 31st

December 2016 what would be her total

saving?

Watch Video Solution

₹10 ₹11 ₹12

68. On the World Environment Day tree

plantation programme was arranged on a land

which is triangular in shape. Trees are planted

https://dl.doubtnut.com/l/_JuqIIer33tJh
https://dl.doubtnut.com/l/_1tFO8BBYL4mv


such that in the first row there is one tree, in

the second row there are two trees, in the

third row there are three trees and so on.

Then find the total number of trees in  rows.

Watch Video Solution

25

69. Sachin invested in a national saving

certificate scheme. In the 1st year, he invested

, in 2nd year , in 3rd year 

and so on. Find the total amount he invested

in 12 years.

₹5000 ₹7000 ₹9000

https://dl.doubtnut.com/l/_1tFO8BBYL4mv
https://dl.doubtnut.com/l/_16kzwua20jhC


Exercise

Watch Video Solution

70. A man borrows  and agrees to repay

with a total interest of  in 12 monthly

installments, each installment being less than

the preceding one by . Find the amount of

the first and last installment.

Watch Video Solution

₹8000

₹1360

₹40

https://dl.doubtnut.com/l/_16kzwua20jhC
https://dl.doubtnut.com/l/_koCs8njF7Uym


1. The sequence  a)is

an A.P, Reason  b)is an A.P, Reason 

 c)is an A.P, Reason  d)is not an

A.P.

A. is an A.P,Reasond=-16

B. is an A.P,Reason d=4

C. is an A.P,Reason d=-4

D. is not an A.P

Answer:

Watch Video Solution

−10, − 6, − 2, 2, …. .

d = − 16

d = − 4 d = 4

https://dl.doubtnut.com/l/_RStgntjokTRn


Watch Video Solution

2. First four terms of an A.P are…………, whose

first term is  and common difference is .

a)  b)  c)

 d)

A. 

B. 

C. 

D. 

−2 −2

−2, 2, 2, 4 −2, 4, − 8, 16

−2, − 4, − 6, − 8 −2, − 4, − 8, − 16

−2, 2, 2, 4

−2, 4, − 8, 16

−2, − 4, − 6, − 8

−2, − 4, − 8, − 16

https://dl.doubtnut.com/l/_RStgntjokTRn
https://dl.doubtnut.com/l/_rbTWxUrBC47W


Answer:

Watch Video Solution

3. What is the sum of first 30 natural

numbers? a)  b)  c)  d)

A. 464

B. 465

C. 462

D. 461

464 465 462 461

https://dl.doubtnut.com/l/_rbTWxUrBC47W
https://dl.doubtnut.com/l/_EC0s5rcfqpJz


Answer:

Watch Video Solution

4. For a given A.P., ,  then 

 a)  b)  c)  d)

A. 6

B. -7

C. 20

D. 28

t7 = 4 d = − 4

a = ……… 6 −7 20 28

https://dl.doubtnut.com/l/_EC0s5rcfqpJz
https://dl.doubtnut.com/l/_zb6fqfVoZn89


Answer:

Watch Video Solution

5. For a given AP, , ,  then

 a)  b)  c)  d)

A. 0

B. 3.5

C. 103.5

D. 104.5

a = 3.5 d = 0 n = 101

tn = ………. 0 103.5 104.5 3.5

https://dl.doubtnut.com/l/_zb6fqfVoZn89
https://dl.doubtnut.com/l/_DRQYXAlFJkoA


Answer:

Watch Video Solution

6. In an A.P, first two terms are , , then 21st

term is……….a)  b)  c)  d)

A. 

B. 143

C. 137

D. 17

−3 4

−143 143 131 137

−143

https://dl.doubtnut.com/l/_DRQYXAlFJkoA
https://dl.doubtnut.com/l/_o6UqlBbadO8A


Answer:

Watch Video Solution

7. If for an A.P,  then =……………a)

b)  c)  d

A. 5

B. 20

C. 25

D. 30

d = 5 t18 − t13 5

20 25 30

https://dl.doubtnut.com/l/_o6UqlBbadO8A
https://dl.doubtnut.com/l/_uB3NOCKkaODQ


Answer:

Watch Video Solution

8. Sum of first five multiples of  is……a)  b)

c)  d)

A. 45

B. 55

C. 15

D. 75

3 45 15

55 35

https://dl.doubtnut.com/l/_uB3NOCKkaODQ
https://dl.doubtnut.com/l/_fZzGQkO4eoEm


Answer:

Watch Video Solution

9.  In this A.P the sum of first 

terms is…..a)  b)  c)  d)

A. 

B. 

C. 75

D. 125

15, 10, 5, …… 10

−75 −125 75 125

−75

−125

https://dl.doubtnut.com/l/_fZzGQkO4eoEm
https://dl.doubtnut.com/l/_LLA0VF3vLTwd


Answer:

Watch Video Solution

10. In an A.P,  term is  and the last term is

.The sum of all terms is , then 

a)  b)  c)  d)

A. 42

B. 38

C. 21

D. 19

1st 1

20 399 n = ….

42 38 21 19

https://dl.doubtnut.com/l/_LLA0VF3vLTwd
https://dl.doubtnut.com/l/_DnKjHCXuJjvK


Answer:

Watch Video Solution

11. For the A.P:  =…..a)  b)  c)

 d)

A. 49

B. 54

C. 59

D. 44

4, 9, 14…… t11 49 54

59 44

https://dl.doubtnut.com/l/_DnKjHCXuJjvK
https://dl.doubtnut.com/l/_JYJa7gNpAJ6p


Answer:

Watch Video Solution

12. If , , then =……a)  b)  c)

 d)

A. 192

B. 195

C. 198

D. 201

a = 6 d = 3 S10 192 195

198 201

https://dl.doubtnut.com/l/_JYJa7gNpAJ6p
https://dl.doubtnut.com/l/_ONoMkSbpzwnN


Answer:

Watch Video Solution

13. The sum of first  natural numbers is ..... a)

 b)  c)  d)

A. 55

B. 155

C. 310

D. 210

10

55 155 310 210

https://dl.doubtnut.com/l/_ONoMkSbpzwnN
https://dl.doubtnut.com/l/_8pFx7CA8kyGR


Answer:

Watch Video Solution

14. Which of the following sequence is not an

A.P? a)  b)  c)

 d)

A. 

B. 

C. 

D. 

0.5, 2, 3.5, 5, …. 3, 5, 7, 9, ….

22, 26, 28, 31, …. 1, 4, 7, 10, ….

0.5, 2, 3.5, 5, ….

22, 26, 28, 31, ….

3, 5, 7, 9, ….

1, 4, 7, 10, ….

https://dl.doubtnut.com/l/_8pFx7CA8kyGR
https://dl.doubtnut.com/l/_cD33ds820CLS


Answer:

Watch Video Solution

15. Find the missing term in the A.P:

 a)  b)  c)  d)

A. 1

B. 2

C. 3

D. 4

−5, .... , 13 1 4 2 3

https://dl.doubtnut.com/l/_cD33ds820CLS
https://dl.doubtnut.com/l/_AcGYr5uQ3T9n


Answer:

Watch Video Solution

16. Find the  of the sequence for which 

 a)  b)  c)  d)

A. 24

B. 2

C. 10

D. none of these

t2

S1 = 2, S2 = 12 and S3 = 30 24 1 23

10

https://dl.doubtnut.com/l/_AcGYr5uQ3T9n
https://dl.doubtnut.com/l/_jTAQE4f1vLPV


Answer:

Watch Video Solution

17. For an A.P if  and , then

find . a)  b)  c)  d)

A. 

B. 42

C. 

D. 21

t4 = 12 d = − 10

a −18 42 −5 21

−18

−5

https://dl.doubtnut.com/l/_jTAQE4f1vLPV
https://dl.doubtnut.com/l/_r680gc0AAzCy


Answer:

Watch Video Solution

18. The next two terms of the given sequence

 are: a)  b)  c)

 d)

A. 42,54

B. 62124

C. 64128

D. 63127

1, 3, 7, 15, 31…. . 42, 54 62, 124

64, 128 63, 127

https://dl.doubtnut.com/l/_r680gc0AAzCy
https://dl.doubtnut.com/l/_DusZi42Z92DU


Answer:

Watch Video Solution

19. In an A.P, , , , then

find . a)  b)  c)  d)

A. 5

B. 6

C. 7

D. 8

a = 8 tn = 62 Sn = 210

n 5 6 7 8

https://dl.doubtnut.com/l/_DusZi42Z92DU
https://dl.doubtnut.com/l/_JSzLKpdgWYNo


Answer:

Watch Video Solution

20. The sum of first n terms of an A.P. is

 a)  b)

 c)  d)None

of these

A. 

B. 

C. 

Sn = ………… [t1 + tn]
n

2

[2 + (n − 1)d]
n

2
[2 + (n − 1)d]

n

2

[t1 + tn]
n

2

[a + (n − 1)d]
n

2

[2 + (n − 1)d]
n

2

https://dl.doubtnut.com/l/_JSzLKpdgWYNo
https://dl.doubtnut.com/l/_MXws3zGnc1xv


D. none of these

Answer:

Watch Video Solution

21. A meeting hall has 30 rows in all. There are

20 seats in the first row, 24 seats in the second

row and 28 seats in the third row and so on.

How many seats are there in the hall? a)  b)

 c)  d)

A. 136

136

4640 2340 192

https://dl.doubtnut.com/l/_MXws3zGnc1xv
https://dl.doubtnut.com/l/_STuM8P7w0VeA


B. 4640

C. 2340

D. 192

Answer:

Watch Video Solution

22. State whether the given sequence is an A.P

or not : a)A.P with 

 b)Not an A.P c)A.P with  d)Can't

say

13, 23, 33, 43, 53, ……

d = 3 d = 7

https://dl.doubtnut.com/l/_STuM8P7w0VeA
https://dl.doubtnut.com/l/_Ek20z2owoqHd


A. an A.P with d=3

B. Not an A.P

C. A.P with 

D. can't say

Answer:

Watch Video Solution

d = 7

23. Is the following sequence Arithmetic

Progression? If it is an A.P then write common

difference: 0, 1, 0, 1, 0, 1…. .

https://dl.doubtnut.com/l/_Ek20z2owoqHd
https://dl.doubtnut.com/l/_Fyp0wynjxjGh


Watch Video Solution

24. Is the following sequence an Arithmetic

progression? If it is an A.P then write common

difference. 

Watch Video Solution

−10, − 13, − 16, − 19, ….

25. Is following sequence an Arithmetic

progression? If it is an A.P then write common

difference: 13, 23, 33, 43, ….

https://dl.doubtnut.com/l/_Fyp0wynjxjGh
https://dl.doubtnut.com/l/_mlmNBLuTB7ki
https://dl.doubtnut.com/l/_26VpRKEsNKHy


Watch Video Solution

26. Is the following sequence an Arithmetic

progression? If it is an A.P then write common

difference: 

Watch Video Solution

31, 26, 21, 15, …. .

27. Is the following sequence is an Arithmetic

progression? If it is an A.P then write common

difference: 

Watch Video Solution

−1, − , − 2, − , …. .
3

2

5

2

https://dl.doubtnut.com/l/_26VpRKEsNKHy
https://dl.doubtnut.com/l/_vgyvdslK8fKB
https://dl.doubtnut.com/l/_ozTEiHzCCIqK


28. Write an A.P where the common difference

 and the first term  are: 

Watch Video Solution

d a a = 11, d = 1.5

29. Write an A.P where the common difference

 and the first term  are 

Watch Video Solution

d a a = 5, d = − 5

https://dl.doubtnut.com/l/_ozTEiHzCCIqK
https://dl.doubtnut.com/l/_wlrNYWKbIoZS
https://dl.doubtnut.com/l/_ujEOfgxao0aR


30. Write an A.P where the common difference

 and the first term  is given: 

Watch Video Solution

d a

a = − 8, d = 0

31. Write an A.P where the common difference

 and the first term  is given: 

Watch Video Solution

d a

a = − 3.5, d = − 3.5

https://dl.doubtnut.com/l/_8dq9Uw3NKCqm
https://dl.doubtnut.com/l/_QhEbXcv7F2Y0
https://dl.doubtnut.com/l/_RAfwSVlHYEb1


32. Write an A.P where the common difference

 and the first term  is given: 

Watch Video Solution

d a

a = 10, d = − 3

33. How many terms are there in the A.P

Watch Video Solution

187, 194, 201, …. . , 439?

https://dl.doubtnut.com/l/_RAfwSVlHYEb1
https://dl.doubtnut.com/l/_2lsAAn3B03TX


34. Find , if the  term of the following

sequence is : 

Watch Video Solution

n nth

68 5, 8, 11, 14, ….

35. If the  term and the  term of an

A.P are  and  respectively, then find the

 term.

Watch Video Solution

10th 18th

25 41

38th

https://dl.doubtnut.com/l/_3DvaPszk27LD
https://dl.doubtnut.com/l/_hNrg5Kzajq6E


36. How many three digit natural numbers are

divisible by ?

Watch Video Solution

4

37. Find the  term of the A.P .

Watch Video Solution

18th 1, 7, 13, 19

38. Find  for the following A.P: 

Watch Video Solution

t11 4, 9, 14, ….

https://dl.doubtnut.com/l/_JIqYmTZjWA0D
https://dl.doubtnut.com/l/_Kbfe7DiEYE2g
https://dl.doubtnut.com/l/_XuvSubTcEdZI


39. Find the  term from the end of the A.P:

Watch Video Solution

10th

4, 9, 14, …. . , 254

40. For which value of  the  terms of the

following two A.Ps are equal?

Watch Video Solution

n nth

23, 25, 27, 29 and − 17, − 10, − 3, 4, …. .

https://dl.doubtnut.com/l/_XuvSubTcEdZI
https://dl.doubtnut.com/l/_3c7kXWZNhzMd
https://dl.doubtnut.com/l/_vADOmQlIhQq8
https://dl.doubtnut.com/l/_PinBsitz1SEv


41. The  term of an A.P is 5 times the 

term and the  term exceeds twice the 

term by . Find the  term.

Watch Video Solution

6th 1st

11th 5th

3 8th

42. How many two digit natural numbers are

divisible by ?

Watch Video Solution

5

https://dl.doubtnut.com/l/_PinBsitz1SEv
https://dl.doubtnut.com/l/_NHFHji4ivTDV


43. Obtain the sum of  terms of an A.P

whose  and  term are  and 

respectively.

Watch Video Solution

56

19th 38th 52 148

44. In an A.P, the  and  terms are 

and  respectively. What is the sum of the

first  terms?

Watch Video Solution

5th 12th 30

65

20

https://dl.doubtnut.com/l/_ZgIFiLNR0k2K
https://dl.doubtnut.com/l/_GGuM9xXQfcY7
https://dl.doubtnut.com/l/_So5r2k1jAKhe


45. Split  in three parts such that they are in

A.P and product of two smaller parts is .

Find the three parts.

Watch Video Solution

69

483

46. The first and the last terms of an A.P are 

and . If common difference is , then find

the number of terms and their sum.

Watch Video Solution

17

9 −2

https://dl.doubtnut.com/l/_So5r2k1jAKhe
https://dl.doubtnut.com/l/_vIoaFzq27Eop
https://dl.doubtnut.com/l/_I7giQXUedHcN


47. Find four consecutive terms in an A.P such

that the sum of the middle two terms is 

and product of the terminal terms is .

Watch Video Solution

18

45

48. Find three consecutive terms in an A.P

whose sum is  and the product of their

cubes is .

Watch Video Solution

−3

512

https://dl.doubtnut.com/l/_I7giQXUedHcN
https://dl.doubtnut.com/l/_BffT6twshWOZ


49. How many terms of the A.P: 

must be taken to give a sum of ?

Watch Video Solution

9, 17, 25, ….

636

50. Find the sum of all natural numbers

between  and  which are multiples of 

.

Watch Video Solution

100 1000 7

https://dl.doubtnut.com/l/_9tn0itzPKxDR
https://dl.doubtnut.com/l/_zT6U61oUtETu


51. A meeting hall has 20 seats in the first row,

24 seats in the second row, 28 seats in the

third row and so on and has in all 30 rows.

How many seats are there in the meeting hall?

Watch Video Solution

52. In winter, the temperature at a hill station

from Monday to Friday is in A.P. The sum of the

temperatures of Monday, Tuesday and

Wednesday is zero and the sum of the

https://dl.doubtnut.com/l/_GAcWEo1qPCpm
https://dl.doubtnut.com/l/_7YKPVttFqMNs


temperatures of Thursday and Friday is .

Find the temperature of each of the five days.

Watch Video Solution

15°C

53. Neeta saves in a Mahila Bachat Gat  on

the first day,  on the second day,  on the

third day and so on. What will be her saving in

the month of February, 2010?

Watch Video Solution

₹2

₹4 ₹6

https://dl.doubtnut.com/l/_7YKPVttFqMNs
https://dl.doubtnut.com/l/_EPebDxltbkRb


54. Mr. Shah borrows  and agrees to

repay with a total interest of  in 

installments, each installment being less than

the preceding installment by  What is the

first and the last installment?

Watch Video Solution

₹4000

₹500 10

₹10.

55. A farmer borrows  and agrees to

repay with a total interest of  in 

installments, each installment being less than

₹1000

₹140 12

https://dl.doubtnut.com/l/_TvaZAyvAbXIO
https://dl.doubtnut.com/l/_MboOQkOVAvDo


the preceding installment by . What

should be the first installment?

Watch Video Solution

₹10

56. The sequence 

a)is an A.P, Reason  b)is an A.P,

Reason  c)is an A.P, Reason  d)is

not an A.P

A. is an A,P Reason d=-16

B. ia an A.P reason d=4

−10, − 6, − 2, 2, ……

d = − 16

d = 4 d = − 4

https://dl.doubtnut.com/l/_MboOQkOVAvDo
https://dl.doubtnut.com/l/_vZQEdV5ezN97


C. is an A.P Reason d=-4

D. is not an A.P

Answer:

Watch Video Solution

57. Sum of first five multiples of  is  a)  b)

 c)  d)

A. 45

B. 55

3 …. 45

55 15 75

https://dl.doubtnut.com/l/_vZQEdV5ezN97
https://dl.doubtnut.com/l/_dFl4VR8WEWe6


C. 15

D. 75

Answer:

Watch Video Solution

58. For an A.P.:  find .

a)  b)  c)  d)

Watch Video Solution

2, − 2, − 6, − 10, …. d

−4 2 4 1

https://dl.doubtnut.com/l/_dFl4VR8WEWe6
https://dl.doubtnut.com/l/_9ooirqxhM9GB


59. For an A.P, if  and , then find 

.

Watch Video Solution

a = − 3 d = 4

tn

60. Determine whether following sequence is

an A.P : 

Watch Video Solution

2, − 2, − 6, − 10, ….

61. In an A.P,  and . Then find .a = 6 d = 3 S27

https://dl.doubtnut.com/l/_FkxTUAa0j4cF
https://dl.doubtnut.com/l/_oZMH2zqPsFqs
https://dl.doubtnut.com/l/_VcGdPLINP1Y6


Watch Video Solution

62. Find the  term of the following A.P.

Watch Video Solution

19th

7, 13, 19, 25, …

63. Find the sum of all natural numbers from 1

to 140 which are divisible by 4.

Watch Video Solution

https://dl.doubtnut.com/l/_VcGdPLINP1Y6
https://dl.doubtnut.com/l/_GrxLF7gquAoJ
https://dl.doubtnut.com/l/_xMqoQ1sLYFem
https://dl.doubtnut.com/l/_0pXWZi2551YH


64. Number of literate people in the year 2010

is 4000. This number increases by 400 every

year. How many literate people will exist in the

year 2020?

Watch Video Solution

65. Find the consecutive terms in an A.P whose

sum is 12 and the sum of the 3rd and 4th term

is 14. (Let four consecutive terms be

).

Watch Video Solution

a − d, a, a + d, a + 2d

https://dl.doubtnut.com/l/_0pXWZi2551YH
https://dl.doubtnut.com/l/_NnbcDhDV9yba


66. If the sum of  terms of an A.P is equal to

the sum of  terms, then show that the sum of

its  terms is zero.

Watch Video Solution

p

q

p + q

67. Mr. Ajay borrows ₹3,25,000. He paid ₹30,500

in the first month and then each installment

being less than the preceding installment by

https://dl.doubtnut.com/l/_NnbcDhDV9yba
https://dl.doubtnut.com/l/_0ncg0dDBPHSb
https://dl.doubtnut.com/l/_O2YaNqxBq2Qb


₹1500 he pays the rest. How long will it take to

clear his loan?

Watch Video Solution

68. 200 logs of wood are stacked in the

following manner:20 logs in the bottom row,19

in the next row,18 in the row next to it and so

on.In how many rows 200 logs are placed and

how many logs are there in the top row?

Watch Video Solution

https://dl.doubtnut.com/l/_O2YaNqxBq2Qb
https://dl.doubtnut.com/l/_3ydg1MEuCx4j
https://dl.doubtnut.com/l/_EFiYLiZso52N


69. If sum of m terms is n and sum of n terms

is m,then show that the sum of 

terms is .

Watch Video Solution

(m + n)

−(m + n)

70. How many terms of the A.P 16,14,12,….. Are

needed to obtain the sum 60?Explain why we

get two answers.

Watch Video Solution

https://dl.doubtnut.com/l/_EFiYLiZso52N
https://dl.doubtnut.com/l/_JiSxLWlCpMWM
https://dl.doubtnut.com/l/_u7wa5nPmv9QZ


71. If  terms of an A.P. are 

 respectively, show that 

Watch Video Solution

pth, qth and rth

l,m, n

(q − r)l + (r − p)m + (p − q)n = 0

72. Jinal saves ₹1600 during first year,₹2100 in

the second year,₹2600 in the third year,If she

continues her saving in this pattern,in how

many years will she save ₹38,500?

Watch Video Solution

https://dl.doubtnut.com/l/_u7wa5nPmv9QZ
https://dl.doubtnut.com/l/_qfEFfgwQFY3y
https://dl.doubtnut.com/l/_0VqTZZpyg9Cf


73. Find the middle term of sequence formed

by all three digit numbers which leave a

remainder 3 when divided by 4.Also find sum

of all numbers on both sides of the middle

term.

Watch Video Solution

https://dl.doubtnut.com/l/_0VqTZZpyg9Cf

